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1.

(A)

(B)

(C)

(D) dH lUiA

^  S3 ' S3 Cs

% #fTt % #T # TTH^ W t ?

(A) 25 te

(B) 18 te
■  (C) 15

(D) 20te

3. ^ ̂ 2024 % ^
|J<'H)K ft'MI J14I SIT?
(A)

(B)

(C) RoHI 5^1^*3
p) kM\<^\'^

(A)

(B)

(c)

(D) H^lRi4l

5.

6.

■^HIH «WI
">

^t?
(A) 25Tft. x30^ft.
(B) 24Tft. x28Tft.
(C) 23^. x26Tft.
(D) 20^. x20Tft.

3^ te % 1^-lqM
%313^TR, 18
5^T3n^ ̂ 31^'^ ITR^ (sNiTT^ ̂  t ?
(A) 22^^24^
(B) 19^^21^
(C) 16^tl8^
(P) 12^%14^

I

(A) 7-266 tor
P) 7-777 fen
(C) 7-260 fen
P) 7-800 fen

fenfefe w feiH ̂  in ̂  fe ̂  ̂  ̂ ̂
^TK. :

^T^II
0\ Cv

(i) 1. 0-72^
(ii) 2. 4-lOfe
(iii) 3. l-3n^
(iv) 4. lo^^Jn^rfe

Cs

(A) (i>l,(ii)-2,(iii)-3,(ivH

(B) (i)-l,(ii)-2,(iii)-4,(iv)-3

(C) (i)-2,(ii)-l,(iii)-3,(iv)-4

P) (i)-2,(ii)-l,(iii)-4,(iv)-3

fenfefe" nn ferFT |n fe ̂  ̂  ̂ ̂
3m "^Pin^

C\ C\

(i) 1. 5-4kcal/g

(ii) 2. 9-3kcal/g

(iii) ^nr 3. 4-1 kcal/g

(iv) y,^ ^dl(l 4. 4-184 J

e\

(A) (i)-l, (ii)-3, (iii)-2, (iv)-4

(B) (i)-3,(ii)-l,(iii)-2,(iv)-4
(C) (i)-3, (ii)-l, (iii)-4, (iv)-2

(D) (i)-I,(ii)-3,(iii)-4,(iv)-2
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2.

5.

6.

Grand Slam is related to which one of the

sports ?

(A) Table Tennis

(B) Chess

(C) IPLT20

(D) Lawn Tennis

What is the standard duration of time for yoga for

18 to 35 years of age group people as per the
protocol of Fit India Mission ?

(A) 25 minutes

(B) 18 minutes
(C) 15 minutes
(D) 20 minutes

To whom was the Major Dhyan Chand Khel
Ratna Award for Chess given for the year 2024 ?

(A) Gukesh D.

(B) Koneru Humpy

(C) Divya Deshmukh
(D) Rameshbabu

Who was the founder of Fit India Movement ?

(A) Shri Supamo Satpathy
(B)' Shri Ashok Dhyanchand
(C) Shri Neeraj Chopra

(D) Shri Mansukh Mandaviya

What is the specification of synthetic Kabaddi
ground for competitions ?

(A) 25mx30m

(B) 24mx28m

(C) 23mx26m

(D) 20 m X 20 m

What is the benchmark for modified push-ups for
girls of 18 years of age as per fitness protocol and
guidelines of Fit India Movement under 'very
good' norms ?

(A) 22 times to 24 times

(B) 19 times to 21 times
(C) 16 times to 18 times
(D) 12 times to 14 times

In athletics, for shot put event, the weight of the
shot put for men is :

(A) 7-266 kg

(B) 7-777 kg

(C) 7-260 kg

(D) 7-800 kg

Match the following and select the answer fi-om
the codes given below:

List I List n

(i) Sub-acute 1. 0-72 hours

injury

(ii) Acute injury 2. 4-10 days

(iii) Chronic injury 3. 1-3 months

(iv) Fracture 4. More than 10 days

Codes :

(A) (i)-l, (ii)-2, (m)-3, (iv)-4
(B) (i)-l,(ii)-2,(iii)-4,(iv)-3
(C) (i)-2,(ii)-l,(iii)-3,(iv)-4
(D) (i)-2,(ii)-l,(iii)-4,(iv)-3

Match the following and select the answer fi-om
the codes given below :

List 1 List n

(i) Carbohydrates 1. 5;4kcal/g

(ii) Proteins 2. 9-3 kcal/g

(iii) Fats 3. 4-1 kcal/g

(iv) One Calorie 4. 4-184J

Codes:

(A) (i)-l,(ii)-3,(iii)-2,(iv)-4
(B) (i)-3,(ii)-l,(iii)-2,(iv)-4
(C) (i)-3,(ii)-l,(m)-4,(iv)-2
(D) (i)-l, (ii)-3, (iii)-4, (iv)-2
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10.^ 1985 4H<c+>K%OT

W STT ?
V3

(A)

(B)

(C)

(D) 5mwW

11.

=Q -dQ-cll^ ?tcfl"% ?

(A) 2-5 Tte

(B) 2-7^

(C) 2-8^

(P) 2-6^

12. fdMfQlRadt^[^Wdi"l 2008#^1WjU|

BUTTf^ferTWSTT?

(A) ̂ FdH ̂ Jd=h<
(B) Iqwi'iR" 3TR^

(C) 41m

(D)

13. I 1^ ^ ^ Hh^tI H ̂ft II
^  ̂ ^ 2022 t
^31^ eTRT ̂  3m TR f

B^II
Cv

1. 3Tf^W

2.

3. TI^IW

^I
Cv

(i)

(ii)

(iii)

(iv) di^md^H 4. arw^

(A) (i)-2, (ii)-3, (iii)-4, (iv)-l

(B) (i)-4, (ii)-3, (iii)-2, (iv)-l

(C) (i)-3,(ii)-4,(iii)-l,(iv)-2

P) (i)-l, (ii)-2, (iii)-3, (iv)-4

14. % <^d ^ Hldl % ^ [^a^fl "^tcfi"

t?

(A) 18^

(B) 22

(C) 24ite

(D) 20Tte

15. 31^ <H<«hK "SKT 31^ ̂  TFJ^r

Mlf^d 1^41 'Hit?

(A) TTedm

(B)

(C)

(D)

16. Wr3I^%W^^W^^cnmf^nH^2020iN=5Tt
3M^ 3;^ 2024 ̂  ^ ̂

STTI

(A) ̂ ^^SRTNfWcft^

(B)

(C) 3m JHKdIm

p) «lddd ̂ MK

17. y4^i %"BT^ Radi'^, WR I^RT 1%^ %
Rdl^f ?

(A)

(B)

(C) ^ilw

P)
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11.

Who was awarded the first Dronacharya Award

in wrestling in the year 1985 by the Government

of India ?

(A) Bhalchandra Bhaskar Bhagwat

(B) Guru Hanuman

(C) Maha Singh Rao

(D) Jagmander Singh

What is the height ofMallakhamb pole above the
base for Mallakhamb competitions ?

(A) 2-5 metres

(B) 2-7 metres

(C) 2*8 metres

(D) 2-6 metres

12. Who amongst the following was a Padma
Vibhushan Awardee in 2008 ?

(A) Sachin Tendulkar

Viswanathan Anand

Dipa Karmakar
(B)

(C)

(D) P.R. Sreejesh

13. Match the sports awards given in List I with the
names of players in List II who received these
awards from the Government of Madhya Pradesh

in the year 2022.

1.

2.

3.

Lits I

(i) Ekiavya Award

(ii) Vikram Award

(iii) Vishwamitra

Award

(iv) Lifetime

Achievement

Award

Codes:

(A) (i)-2, (ii)-3, (iii)-4, (iv)-l
(B) (0-4, (ii)-3, (iii)-2, (iv)-l

(C) (i)-3,(ii)-4,(iii)-I,(iv)-2

(D) (i)-l,(ii)-2,(iii).3,(iv)-4

4.

List 11

Anil Dhupar

Rashmi

Malviya

Raju Singh

Aastha Dangi

14.

15.

16.

What is the distance between two poles in the
game of Kho-Kho ?

(A) 18 metres

(B) 22 metres

(C) 24 metres

(D) 20 metres

Which sport has been declared the state sport of
Madhya Pradesh by the Government of Madhya
Pradesh ?

(A) Mallakhamb

(B) Kho-Kho

(C) Hockey

(D) Cricket

Name the shooter of Madhya Pradesh who had
participated in the 2020 Tokyo Olympics and
2024 Paris Olympic games.

(A) Aishwary Pratap Singh Tomar •

(B) Randhir Singh

(C) Akshay Kumar Tomar

(D) Balwant Kumar

17. Vivek Sagar, the hockey player belongs to which
district of Madhya Pradesh ?

(A) Narmadapuram

(B) Khandwa

(C) Bhopal

(D) Jabalpur
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18.

19.

20.

21,

"5Ff WT ^ #

^THT^rmrt?

(A)

(B) HH=h f^^crlH

(C)

(D)

[HHfdR^d t^r % P
40
(40^ i}ldH4>) # WH\

^.ar. (C.I.) f

5-9 1

10-14 6

15-19 7

20-24 9

25-29 10

30-34 6

35-39 5

40-44 6

(A) 23-452

(B) 22-835

(C) 26-694

P) 25-975

Tt ̂  I^FitT ^ "foTEi^ %

(A) ̂  toTT 3TOTTR # ̂  ̂ ̂

(C) ̂

p) -^loi ^di ci4 ^

^ ter % 3CRhTT

(A) «ls| [^diui y^HM^

(B) ̂  fqo<ui y^iHM %

(C) ̂  %jhT ^ TTR iTT^ % ̂  if viMd®^

22. Pinf^Raa MJ-i«ti fq-qcid «wi ̂ l^i ?

52, 50,56, 68, 65, 62, 57, 70

(A) 5-31

(B) 7-72

(C) 8-52

P) 6-91

23. "^Hins4<=Q smH MlRldidI>flf I" ̂

(A) an-icrfl

p) ̂"Ih^hh

(C) dirSodH

P) ?hl4^Hdd

24. ̂  cnf^t ̂  31 - 35,
36 - 40, 41 - 45, 46 - 50 W 51 - 55 t,
3TTOr 36 - 40 ̂  PHdi^ Tt# ^ft^TT W

#ft?

(A) 45-5-50-5

(B) 30-5-35-5

(C) 35-5-40-5

P) 40-5-45-5

25.

25, 35, 15,17,44,47, 39, 50

(A) 44

(B) 37

■(C) 17

P) 47

26. SiicjFn lqa<"i aiRicw (i)
e\

(A) 1 =

(B) i =

q'lT cfil ^^<em

(C) i =^ X
p) i =^ + ̂ Pc^a d'il =Q iA*sn\

4324 (6-A)



sm

m

18. Which of the following is kno\<ni as "Root Mean
Square Deviation" ?

(A) Mean Deviation
(B) Standard Deviation
(C) Quartile Deviation
(D) Percentile

19. Calculate P^q from the following data :

C.I. f

5-9 1

10-14 6

15-19 7

20-24 9

25-29 10

30-34 6

35-39 5

40-44 6

20.

21.

(A) 23-452

(B) 22-835

(C) 26-694

■(D) 25-975

In which of the following conditions is the use of
Quartile Deviation not recommended ? .
(A) When distribution is skewed, containing

few very extreme scores
(B) When measure of central tendency is

available in the form of median

(C) When various quartiles and percentiles
have already been calculated

(D) When the data has open-ended class
intervals

In which of the following conditions is the use of
Standard Deviation not recommended ?

(A) When distribution is normal
(B) When distribution is near to normal
(C) When measure of central tendency is not

available in the form of mean

(D) When there is need of calculation of
coefficient of correlation

22.

23.

24.

25.

26.

What will be the Standard Deviation of the
following data ?
52, 50, 56, 68, 65, 62, 57, 70
(A) 5-31
(B) 7-72
(C) 8-52
(D) 6-91

"Statistics is the science of estimates and
probabilities." Whose definition is this ?
(A) Bowley
(B) Berenson
(C) Boddington
(D) Croxton

In the frequency distribution table if the class
intervals are 31 - 35, 36 - 40, 41 - 45, 46 - 50
and 51 - 55, then what will be the lower and
upper class interval of 36 - 40 ?
(A) 45-5-50-5
(B) 30-5-35-5
(C) 35-5-40-5
(D) 40-5-45-5

What will be the Median of the following data ?
25,35, 15, 17,44,47,39,50
(A) 44
(B) 37
(C) 17
(D) 47

For the preparation of frequency distribution
table, the class interval (i) is calculated by which
of the following formulae ?

Range
(A) i =

(B) i =

No. of classes desired

No. of classes desired

Range

(C) i = Range x No. of classes desired

(D) i = Range + No. of classes desired

4324 (7-A)
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27.

t?

(B) yif^cb<'Jri 3^tilcll %

(C) =bl

(D) tliHi'<H 511a

(A) ̂ TRlf^ WT ̂ ^

(B)

(C) R^f^d cbiAl

(D) 3iT^ ̂TTfieTfW 3^ ^

29. ̂  t ^ R:

1^ 3mFT t lTf^ ?
•o

(A)

(B)

(C)

(D)

30.

(A) ̂ WI^siT^
(B) 5nfrWR)HsfT^

(C) <H? [sfll^-1

(D) -dH-qKirHcn fssni^-i

31. ^ TO# % ̂rf^fror wr r:

toRRi aijcjjtrn %3ITO"^'Q;^ nRcturHdl IddiRld
<+)< <^i

% I ̂ Rr1#r aR^hiH ^3#Rt "f^^^TT ̂

t?

(A) M##i%TOTOte3F£m
(B) HRi^ieHdi 3dRr % Riy, aT?r:^f^-3#R)

(C)

(D) ̂ crflil ^.I'H «t)i

32. R R 1#r dR^hJH R ̂5CIW
si \j

itR R ̂  Wf # TOTO ^ W #f
es si s

3RWf#T 1#T ̂  R R ̂  # 3IPT#^
1#T^TOT% ?

(A)

(B) ̂ -lff9^-WTO'-#t^Pn' qit^Fri^Jch
■(?vMl<dl

(C)
(D)

33. TTTO# % #: R PlMRlfed R R #r-m
t?
(A) STTO# #TOdf IRT ^ R oJjRhdd ^ ̂

fTOTf##Wtt I
(B) ?rTO# ̂  w# %TO WTO7 t^r wur

^^f^1#TTWTtl
(C) 5rTO#3TORnafr'#R^#^|3fk^#

^tl
(D) 5rTO#^3TRTOT3Tt#R^#^ncftR##T^

#TOdf ̂ RT W'TOT % 1

(A) ^ ̂fR%?T wr % ̂ 1# yfd^lRl^l # ̂ RR
■dH^K [ntrl

(B)
(C) TOlfTi^^%TO^^%#nT3WKRT§T%

^R^i4<+<hi
(D) qi^3iic(;(4jct)^# yi4lRi^ yH^#y[^^lf4d

^iRT

35. TT^Mi^^jdmte*wWRRT#^:
(A)

#TT
(B) BRw3RT^nRRfcRTRRi##^RRRSTfiRT

41a
(C) f#R^Rfd#lRT*r%%iTTOte#?r

(D) f#ftaRTil.fd^lRjdi#^R4k%'^RBq#T
#flTOT^^TTOT

4324 (8-A)
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27. Footnotes are not meant for which of the

following ?

(A) Cross references

(B) Citation of authorities and sources

(C) Acknowledgement

(D) Common knowledge items

28. What is the primary purpose of Survey Research?

(A) To observe natural phenomena in real time

(B) To gather self-reported data from a
population

(C) To manipulate variables in a controlled
setting

(D) To study ancient manuscripts and artifacts

29. In which section would you typically find
research hypothesis or objective in research
report ?

(A) Literature review
(B) Introduction

(C) Result
(D) Conclusion

30. When a researcher conducts a longitudinal study
of several groups, each from different
generations, it is known as .

(A) Cohort Design

(B) Experimental Design

(C) Survey Design

(D) Treatment Design

31. A sports psychologist is analyzing past Olympic
performances to develop a hypothesis on the
impact of mental conditioning on sprinters'
reaction times. Which research approach is being
used here ?

(A) Experimental study with controlled
variables

(B) Insight-stimulating analysis to generate
hypothesis

(C) Randomized controlled trial
(D) Cross-sectional survey of athlete opinions

32. In which of the following designs is experimental

treatment given to one of the two groups without
making any attempt to ensure similarity of the
groups before treatment begins ?

(A) Static group design

(B) Pre-test-Post-test random group design

(C) Solomon group design

(D) Post-test random group design

33. Which of the following statements about
questionnaires is correct ?

(A) Questionnaires are personally executed in
the field by the researcher.

(B) Questionnaires are used only to collect
qualitative data.

(C) Questionnaires' are mailed to the
respondents and filled in by them.

(D) Questionnaires are mailed to the
respondents but filled in by the researcher.

34. What is the role of a control group in
experimental research ?

(A) To ensure all the participants receive the
same treatment

(B) To introduce new variables into the study

(C) To serve as a baseline for comparison with
the experimental group

(D) To replace the experimental group, if
heeded

35. A secondary source of a particular historical
research:

(A) Will always be a secondary source for all
the historical research

(B) Will always be a primary source for all
other historical research

(C) May be a primary source for another
historical research

(D) Cannot be used as a source in any other
historical research

4324 (9-A)
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36.

37.

^ <^lM=h 3T5^% r'^^j^R"
t?

(A) tir^.

(B) ̂

(C)

(D)

^'%7

(A) ̂

(B) ̂

(C) 3^?^

(D)

38. ^ [<a(rii41 ̂  ^

11

(A)

(B) 5^^5i^3TWiT^

(C)

(D)

39. FmT?iT^3TWR^^i^^%^WTT^5n(iTt:

(A)

(B) g^arra^TTT^

(C) dn^jpgif^n^^m^
(D)

40. % sgBK, % tor ̂  ̂ ̂ ̂ ̂
^fHT'SITcTT^:

(A) 3T«rRTWf^^

(B) tiola =tii R-mh

(C) cRTOT^I^

(D) »mfH«hai ctii

41.

42.

43.

:

(A) ̂  41cia y.ci ^

(B) ̂ ^fe4i^ JillfHd ̂

(C) ̂  T#

(D)

^ fifM^ iBJ 1^^ % 3TmK ̂  %

\^<A -icr^<g Rh^i 'Ni t ?

(A) 03

(B) 04

(C) 05

(D) 06

^ TT^Wrte ifm TOT ̂ nfrr^ t ̂

Ra<ni[^4^ O^sRfte) 3^ ^ wto

(A) ̂ f|T^<^cri hhII^^m

(B) y4l'iicH=ti <^ci
(C) fViPi«hcn <^cn
(D) f^chl^lcH'*

(A)

(B) 5H|{1

(C)

(D)

45. Tt^ TTSr^ffe ̂  ̂?n" TOR "Rlf^R ̂  ^
Iqrq^ 3fk t B#MR^^%%RRf?TTO

BR^RT#?

(A) 3^R^Rn^qf^3i%8Sur^Rp5HTTOR

(B) RN'R^T^%BT8T3RBRa7lRlB'R^

(C) %R^STRR?t

(D) l^tfl % ̂R Ih^ — 3TTBR

4324 (10-A)
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37.

38.

39.

40.

"Learning is a comprehensive experience of the
organisation of behaviour according to the
demands of some tasks." This statement is given
by whom ?

(A) E.L. Thomdike

(B) Munn

(C) H.C. Morrison

(D) Cratty

Which of the following is not a cause of
aggression in adults ?

(A) Injury

(B) Disease

(C) Ego

(D) Reflex action

The primary goal of injuring another person or
player in sports, is a type of .

(A) Instrumental Aggression

(B) Assertive Behaviour Aggression

(C) Hostile Aggression

(D) Dominance Aggression

Instrumental aggression is also known as :

(A) Channelled aggression

(B) Assertive aggression

(C) Impulsive aggression

(D) All of the above

According to Thomdike, law of effect is also
known as:

(A) Law of Exercise

(B) Law of Satisfaction

(C) Law of Readiness

(D) Law of Primacy

41. For athletes imagery training is not beneficial
when it;

(A) is vivid and detailed

(B) incorporates few senses in real time

(C) has positive focus

(D) is not practised regularly

42. How many types of personalities are mentioned
on the basis of thoughts by Morgan and

Gilliland ?

(A) 03

(B) 04

(C) 05

(D) 06

43. This involves researching the psychological
factors that affect athletes and their performance,
often through empirical studies on the field. It is
also known as:

(A) Educational Sports Psychology

(B) Experimental Sports Psychology

(C) Clinical Sports Psychology

(D) Developmental Sports Psychology

44. Cognitive functioning does not govem :

(A) Our thoughts

(B) Our actions

(C) Learning and paying attention
(D) Rate of respiration

45. What does an athlete have to do when training is

not possible, to help them cope with their injuries
and to get their best performance in the future ?

(A) Plan self imagery training

(B) Perform asanas with qualified trainer

(C) Do meditation only

(D) Not meet anybody - relax

4324 (ll-A)
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46.

(A)

(B)

(C) [q[^i2
(D) Bm ̂  ^ ^ ozd%^ ̂

•y^iM ch<^%

47. 4><^%%TJ:^3q^Tf^TFn"

WT t, ̂  ^ ̂HcT ̂
^ ̂ #TT ?

(A)

(B)

(C)

(D) y41iJidi^ichH

48. ^\ yi^iH«^ «wi %?

(A)
^  •' v3 Cs

(B) arFK^^^MfldiO

(C) dPidi^ldil^idsrto^

49. HHdPlid %^#^5iHT^WTi^ichH
^<Wl ^H^cnn <i<:<J)[d %% ?

(A) nm

(B)

(C)

(D) f^MSH

50.

(A) ^ srterte odRbdd ^strt
=ErTf?iT

(B) R<<1< yR|iiirT% SjWdT^^g^TO^tdT^
(C)

(D)

51.

%f^^#HH=b^-dl^W37f^d)dH mM f^ddl

(A)

(B)

(C) 20 3^30

(D) 18^^2^#^3^320^^^Wr

52. ^Wracff't^TcTT^:

(A) EtoTT # 1M 3TT^^

WTT t % t OT

%^rr ii<;!<Fd i^<ii '®im,Mi

(B) ^ ̂ W 3T^ %
irrq^^^i^i^t

(C)

iTN^^Wto"?

(D)

53. (d^^Radl) %

(A) 0-77

(B) 0-78

(C) 0-79

(D) 0-80

Wt?

(A) ̂ snfw ̂ 5RyW oilRh^l ̂
^dHI diWI

(B)

(C) fdRlS HIHdl

(P) teft ^ t MRd^Fd ̂
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46.

47.

What is a Test ?

(A) Tool to provide information

(B) To elicit an observable response

(C) Knowledge about specific trial

(D) Instrument or procedure that elicits an
observable response to provide information
about specific attributes of a person or
persons

When a test is given to predict performance, the
purpose of the test is best described as :

(A) Diagnosis

(B) Prognosis

(C) Programme Evaluation

(D) Proficiency Assessment

48. What is the primary focus of the
High-Performance Training Stage ?

(A) Optimization of performance

(B) Enjoyment and participation

(C) Basic skill acquisition

(D) Introduction to competition

49. The oldest form of assessment known as

Anthropometry dates to the ancient culture of:

(A) India

(B) USA

(C) Germany

(D) United Kingdom

50. Progressive specialisation means :

(A) Training should become increasingly
individualised

(B) Continuous training leads to improvement
of performance capacity

(C) Use of specific means and methods for
improving performance in a particular sport

(D) Increasing the training load from time to
time

51. The standard height of bench and maximiun time

for stepping on bench for college men in the
Harvard Step Test is :

(A) 24 inches bench and 260 seconds

(B) 22 inches bench and 280 seconds

(C) 20 inches bench and 30 seconds

(D) 18 inches bench and 320 seconds

52. Concurrent validity is:

(A) The degree of accuracy with which an
assessment predicts how examinees will
perform in future situations

(B) The degree to which assessment scores are
related to some other valid criterion

(C) Test scores are systematically related to one
or more outcome criteria

(D) Validity is either logical or statistical

53. The correlation coefficient value for objectivity
of test should generally not be less than: •

(A) 0-77

(B) 0-78

(C) 0-79

(D) 0-80

54. What is the main purpose of a norm-referenced
test in physical education ?

(A) To compare individuals against established
population norms

(B) To promote inclusive participation

(C) To measure progress toward specific
objectives

(D) To observe changes in an individuaTs
motivation

4324 (13-A)
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55. Which of the following is not a characteristic of
sports training ?

(A) Concerned with individual matter

(B) Athlete has a dominating role

(C) Process of perfection

(D) Educational process

56. If you are to calculate the Standard Deviation of
data in cells A4 to A12, the formula for

calculation of standard deviation in Excel will

be:

(A) = STDEV.ST(A4:A12)

(B) = STDEV.STD(A4:A12)

(C) =STDEV.S(A4:A12)

(D) =STDEV.SD(A4:A12)

57. Which of the following is a common method to
assess maximum strength ?

(A) VO2 Max Test

(B) 1 -Repetition Maximum (IRM) Test

(C) Sit-and-Reach Test

(D) Wingate Anaerobic Test

58. Who first introduced 'TRIMP' method for

monitoring training load ?

(A) Bannister
(B) Ernst Van Aaken
(C) Yuri Verkhoshansky
(D) Carl Foster

59. Which of the following is true regarding Fartlek
training ?

(A) A Latin word meaning 'speed play'.

(B) The change of speed or pace is already
pre-planned.

(C) The heart rate fluctuates between 140-180
beats/minute.

(D) Training for development of physical
fimess.

60. The formula to calculate product moment
correlation coefficient is :

(A)
zxy

(B) r = ̂

(C) r =

sxy

zx^ 2y2

Zxy

Vz3?zy

zxy
(D) r = —-
^ ' zx^ zy2

61. If the value of Mean is 23-45 and Median is

24-75, then what will be the value of Mode ?

(A) 25-70

(B) 26-75

(C) 27-35

(D) 26-35

62. The formula to find out Quartile Deviation is :

Q3-Q1
(A) Q.D.=

(B) Q.D.=

(C) Q.D.=

(D) Q.D.=

2

Q3 + Qi

2

Q3 """Qi
4

Q3-Q1

63. Which of the following is not correctly
matched ?

(A) I d ] = Deviation from Mean (ignoring sign)

(B) P3 = Third Percentile

(C) r = Coefficient of Correlation

(D) c.f. = Common Frequency

2

64. If the value of 2d = 92 and N = 11, then the value
of coefficient of correlation by Rank order
method will be:

(A) 0-85

(B) 0-65

(C) 0-58

(D) 0-48

4324 (15-A)



65. J|[d ̂  ?

(A) ̂
(B)

(C) ̂

(D) 5(o^HH

66.

ffb^i ̂ Icflt?

(A)

(B)

(C) 3?%^
(D) 5rf^

:

(A) TTTO^fM # ^ ^ %

(B) ^ ̂ ̂ irra^M ̂  Ti^

(C)

(D) (rid1dim«lc^l^%%TT

68.

3^^^^nW(R) WWt I
cbl 'wdl 1

3d^T^i5R (A) : ^ ik 1^ WT

tl

^jRUT (R) : 1

(A) (A) 3^ WIT (R) ^ t 3^
(R) 3#l^iSH (A) # ̂ ^ZTIMT

(B) (A) 3^ (R) dtdf ̂  t,
(R) 3Tf5T^^ (A) # ̂

(C) 3Ttem (A) ̂t, M<d =6KU| (R) TT^t I
(D) 3TfwR(A)TMcrt,W^OT(R)^t I

69.

(A) licDR^<,

(B)

(C)

(D) <m\i^,

70. «ii41A^Pi^ ̂  3qt2m ̂  ̂
t?

(B) 41i^d yuiii^4| (^aTf)t^3^w^
(C) cftos^tR^d
(D)

71. 1^Rf^TfecrTt^^-^T]f^5RT^W?^^|?

(A) ̂ it^^3TlJ^
(B)

(C) <m5<.^Mi

(D)

72.

(B)

(C)

(D) ^hIR^,

73. ^T^^tMuId f^^3T^%^3ikdtcTTt?

(A) 3Br-W3T^

(B) 3gt«43W
(C) lfe3T^

(D) iWTbJsW

3^ ̂  ?Tf^?rdt OT ̂ 3rq^ ^ ^

=WI=h^Mldlt?

(A) chl^^Rl4ld14l

(B)

(C)

(D)

4324 (16-A)



65.

66.

Which term describes the resistance to change in

motion ?

(A) Momentum

(B) Inertia

(C) Velocity

'(D) Mass

Which muscle action occurs when muscle

lengthens under tension ?

(A) Concentric

(B) Isometric

(C) Eccentric

(D) Reflexive

67. Isometric contractions are most useful for:

(A) Improving muscular endurance only

(B) Strengthening muscles at a specific joint
angle

(C) Enhancing explosive power

(D) Increasing flexibility

68. Given below are two statements, one labelled as

Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the
correct answer using the codes given below.
Assertion (A): Centre of gravity is always fixed.
Reason (R): It depends on body posture.
Options:

(A) Both Assertion (A) and Reason (R) are true
and Reason (R) is the correct explanation of
the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true,
but Reason (R) is not the correct
explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is
false.

(D) Assertion (A) is false, but Reason (R) is
true.

69. The anterior muscles of the Shoulder Girdle are :

(A) Serratus anterior, Rhomboids, Trapezius

(B) Subclavius levatof, Scapula, Rhomboids

(C) Pectoralis minor, Serratus anterior,
Subclavius

(D) Rhomboids, Serratus anterior, Subclavius

70. What is the study of biomechanics concemed

with ?

(A) Chemical processes in the body

(B) Motion and forces in living things

(C) Electrical signals in nerves

(D) Growth of organisms

71.

72.

73.

74.

Which of the following movement is in the
transverse plane ?

(A) Elbow flexion

(B) Pelvis rotation

(C) Abduction of arm
(D) Shoulder flexion'

The main hip abductor muscles are :

(A) Brevis and Gracilis
(B) Glutens medius and Gluteus minimus
(C) Gluteus maximus and Pectineus
(D) Biceps femoris, Sartorius and Gracilis

Around which axis does rotation in the frontal

plane occur ?

(A) Anteroposterior axis

(B) Longitudinal axis

(C) Horizontal axis

(D) Mediolateral axis

The science concemed with the intemal and

extemal forces acting on the human body and the
effects produced by these forces is :

(A) Kinesiology
(B) Biomechanics

(C) Kinetics

(D) Kinematics

4324 (17-A)



75.

(A) 3n^^^Tr2mT^]^y^^41-4dl

(C) (A)3^(B)^

(D)

76. 1^ #WTf OT Wte STr^lte tof^

t?

(A)

(B)

(C)

(D)

77. <J(rHkM+ ^ feT% WJ f^=hf^d fen"
W?

(A)

(B)

(C) ̂ .V^.

(D) TT^.TT^.SR^

78,

79.

^USR" 3R#T ̂  ^
TT^ 31?3PR #, IdnRlRdd t ̂ ^ %

nRtflnd ̂ idi ?

(A) ̂ rf^TSFT % dl<M f^tfl % 3TT^ ̂
(d^iRd di<^ 3RFT5fdT

(B) ̂ ^'4d#IdRia^Tra^^?T^^^^llPnr1 ̂<dl

(D) oilRh'ld VO2 AcW W<'^MI<^Rcbi^T^

(B) =^%«sn^ =h<HI

(C) MwiRd di^'^'^dl <^)i *^I«t)H «t)<dl
(D) WIcH^tzrx^WT

80. RnRiRad (;1^%^Z^%TTFr^?

(A) cridi^ = 0-28 m % 0*30 m, «1I5<1 o^Tra" =
40 nun± 2 mm d^std = 50 g^ctJH d^

(B) ^rait = 0-25 m t 0-30 m, ^^^m =
50 mm ±5 mm3^^^= 50 d^

(C) = 0-25 m .t 0-30 m, =
45 mm± 5 mm = 55 g^<^id d^

(D) = 0-28 m % 0-35 m, =
45 mm± 5 mm = 50

81. §^4lcrJ=bl^#Mm4^lt?

(A) 40itex30ifte':

(B) 45^fta:x20Tfta:

(C) 45^x30^

(D) 40Tffei:x20^

82. IdHRlR^d t ̂ aild'Rdi 3Tm^
^t?

©s

(A)

(B) ^cftddl

(C) f^mfTrtwik

(D) 3?fwn?^^

83. ^^#^4)d[MWd o4d^l< %3JqT 3T?2mTOT
^^TIBdT t, ̂  ̂  Siwft-

(A) lTTWT^31^mR

(B) JjU|kM=h3T5^TO
(C)

(D) ̂  jy^Th 3H?mR

84.

^ ̂ "3Tte -

«ldcll 'Nl ?

(A) 20^5^,2021
(B) 20^,2021

(C) 20^,2022

(D) 20^5^,2022
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75. In research the purpose of internal criticism is
to :

(A) Ascertain the truthfulness or credibility of
data

(B) To establish the authenticity of the source
of data

(C) Both (A) and (B)

(D) Manipulation of data

76.

77.

78.

79.

Which method involves testing a hypothesis
under highly controlled conditions established by
the researcher ?

(A) Survey Method

(B) Life Histories

(C) Experiment Method
(D) Ethnographic Method

Who developed the Law of Comparative
Judgement ?

(A) Charles E. Osgood
(B) Louis Guttman

(C) P.H. Tannenbaum

(D) LX. Thurstone

In a study analyzing the impact of altitude on
marathon performance, which of the following
would be a delimitation rather than a limitation ?

(A) Inability to control an athlete's diet during
training

(B) Only including elite marathon runners in
the study

(C) Unpredictable weather conditions at
different altitudes

(D) Natural variation in individual VO2 max
level

What is the primary purpose of hypothesis testing
in research ?

(A) To prove the researcher's assumptions
To determine relationships between
variables"

To evaluate the validity of proposed
statement

To collect qualitative data

(B)

(C)

(D)

80.

82.

83.

84.

Which of following are the dimenrions of Relay
Baton ?

(A) Length = 0*28 m to 0*30 m, Outer
= 40 mm ± 2 mm and Weight =

than 50 g

Length = 0-25 m to 0-30 m, Outer
= 50 mm ± 5 mm and Weight =

than 50 g

Length = 0-25 m to 0-30 m, Outer
= 45 mm ± 5 mm and Weight =

than 55 g

(D) Length = 0-28 m to 0-35 m, Outer
= 45 mm ± 5 mm and Weight =

than 50 g

(B)

(C)

diameter

Not less

diameter

Not less

diameter

Not less

diameter

Not less

81. What are the dimensions of a Handball court ?

(A) 40 metres x 30 metres

(B) 45 metres x 20 metres

(C) 45 metres x 30 metres

(D) 40 metres x 20 metres

Which of the following is a core value of
Olympic Games ?

(A) Commitment and Courage

(B) Excellence and Friendship

(C) Trust and Cooperation

(D) Excellence and Win

If a researcher wants to study human behaviour,
which research method should be adopted ?

(A) Quantitative Research

(B) Qualitative Research

(C) Conceptual Research

(D) Applied Research

When was the Olympic motto "Faster, Higher,
Stronger" changed to "Faster, Higher, Stronger-
Together" ?

(A) 20th July, 2021

(B) 20th June, 2021

(C) 20th June, 2022

(D) 20th July, 2022
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85. 1^^

(A)

(B)

(C) 5R^ ^
(D)

86.

^  19201 Tn^T f3TT ?
(A)

(B) frr. dch dirdi

(C)

(D) fTr.%.^. snw

87. RnRil^d t^^-W ?

(A)

(B) ̂ 1dd W<

(C) fd^ld-H W<

(D) ̂ kRf%3T^

88.'

2018 tT %fhr Wd" #i5rT ?

(A) ̂ m^

(B) bMmT

(C)

(D)

89. ^ ^Mildcfl ^

^if^l
(A) 1915

(B) I9I3

(C) 1914

(D) 1912

90.

(A) '3i«ii?<rriiei

(B) -IdH dldl

(C) ̂ kR#ZH

(D) 10 oi"^

91.

f^ddl dldlt?

(A) 1-75

(B) 1-00

(C) 1-50

(D) 0-75

92. 'WtW' ̂|od ̂ ll(lRdi%^%RMfdi^d <i\im

(A) ̂ Rd RmIuI

(C) 44xiKlr4+

(D)
.}

93. "i^llORdi fw MHcfld n% ̂  3^ %R ̂
^  t I" iHHfdRdd t ̂

(A)

(B) ^R^Hd, y.ci -qch

(C)

94. 3nJTi^ % % 3TT^ ^TFT R

11 C2TK?)^RTt%l^i<i^d-0^^^H<'n ?

(A) 3

(B) 2

(C) 4

(D) 5

95. PMRlRadR^^-WiillORdilw^^S^t?

(A) ̂ "^dH U.d Mfy«6< f^4>iy

(B) Iqctiiy

(C) tllHlRletJ

(D) i!ii(lRcf) i<ci <+<Hl
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85. Which of the following teaching method is 91. How much is the extension • of attack line

mostly used in mass drills ? (in metres) of a Volleyball court ?

(A) Audio method (A) 1-75

(B) Command method (B) 1-00

(C) Presentation method (C) 1-50

(D) Speech method (P) 0-75

86. Under the leadership of which of the following
was the Madras YMCA College of Physical 92. The term 'cooperation' is an integral part of the
Education started in 1920 ? following objectives of physical education:

(A) Dr. MX. Kamlesh (A) Character building

(B) Mr. Book Walter (B) Effective citizenship

(C) Mr.H.C.Buck (C) Remedial values

(D) Mr. K.P. Thomas (D) Social development

87. Which of the following is the meaning of the
•

term * Intramural' ? 93. Physical education is the' study, practice and
(A) Outside of walls appreciation of the art and science of human
(B) Zonal level movement." Which of the following gave this

(C) School level defmition ?

(D) Within the walls (A) Jay B. Nash
(B) Harrison, Blakemore and Buck

88. Which of the following states got the second (C) Charles A. Bucher

place in fnst Khelo India Youth Games 2018 ? (D) Hardayal Singh

(A) Maharashtra
(B) Haryana

(C) Delhi 94. How many byes will be given in the lower half in
(D) Punjab the fixture of knock out system of 11 (eleven)

teams ?

89. Shree H.V.P. Mandal, Amravati was established (A) 3
in the vear (B) 2

(A) 1915 (C) 4

(B) 1913
(D) 5

(C) 1914

(D) 1912
95. Which of the following is the aim of physical

education ?

90. Who was the Founding President of the Indian (A) Optimum and wholesome development
Olympic Association ?

(B) Organic development
(A) Jawaharlal Nehru

(C) Social development
(B) Ratan Tata

(D) Achieve optimum physical fitness and
(C) Dorabji Tata health

(D) Harry Buck

4324 (21-A)
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96.

97.

98.

99.

%  ̂3TT % ?
1.

2.

3.
n3

4.

e\

(A) 13^2

(B)' 2 3^3
(C) 3 3ft^4

(D) 13^3

3jl<vifj^ch ^n" ^ 3W1"
V3

arq ewi%?

(A) ^ h^Fcii
(B) WfT

(C) I3:2T^^^

(D) T??I^^3nriT-lH4m

3^.^# SRTWP^mBt
% M # "tTB^ itcfr t) ̂  ̂ WT t:
(A) y.{lMciI[44l

(B) TiMf^

(C) lJ{lcrilP^4l

(D) yflsriw

4)<y«hdl t?

(A)

(B)

(C) ^i^^RnI qii ei^tniHH
(D) TT^tte^RcTT

^ ̂TWIriT^ ̂  t WT t ?
(A)

(B) 3#T^
(C) ?^?W3Tf5T^

(D) ̂ HR

4324

101. o4iwr%^^^tTft^RT^|^it?rrt,^3rK^M'
^Rn^fl ̂ 1 sl'il ?

(A) 3m^hEft#^TW^^5nT^

(B) 3ik41.^ ̂ tiisni tie ̂ liJJfl

(C)

(D) 3ik4141 3dK 3J^<^l ^^=tidl %

102. 3nWh5Fr "SIRS' S:

1. ^(^4dlRi^ 3fl4I^^H =H^I

2. (^4^d RmRi

3. ^u|

4. 3llcHfl-4H \^Hh

e\

(A) 13^2

(B) 2 3^3

(C) 13^7:4

(D) 13^3

103. ̂  w RnRiRsd ̂  ̂ to ̂  ̂ijif^ to

t?

(A)

(B)

(c)

(D) toto

104. 3ltoto^^#^R3rR^ 1922 3^ 19231

tof^itot^ to% aft ?

1. "^.^.-fkr

2. cr^J^H

3. 3TR. to?T

4.

©v

(A) 13^3
(B) 2 3ft^4

(C) 3 3^ 4

(D) 13^1:2

(22-A)
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96. Which are the two regions where the spinal cord
is enlarged more than the other regions ?

1. Cervical

2. Embryology

3. Lumbosacral

4. Coccygeal

Codes:

(A) land2

(B) 2 and 3

(C) 3 and 4
(D) 1 and 3

97. What is the key element for winning a
gold medal in the Olympics or in any major
competition ?

(A) Perfection in skills only

(B). Athlete's tactical abilities only

(C) Athlete's knowledge

(D) Athlete's self-regulation skills

98. Abnormalities of the heart rate and rhythm
(sometimes felt as palpitations) are known as :

(A) Arrypertonia

(B) Arrysonia

(C) Arylamia

(D) Arrhythmia

99. Which sociological factor can affect an athlete's
performance in a competitive setting ?

(A) Weather conditions
(B) Crowd pressure

(C) Muscle flexibility
(D) Aerobic capacity

100. Which of the following psychological factor is
affecting sports performance negatively ?

(A) Optimal Arousal
(B) Positive Attitude
(C) Optimum Motivation
(D) Tension

101. During exercise when Hemoconcentration
occurs, what will happen to RBC count ?

(A) Increase in RBC concentration

(B) Decrease in RBC concentration

(C) RBC never gets affected

(D) It may fluctuate up or down

102. The two major components of oxygen recovery
are:

1. Alactacid oxygen debt

2. Lactate formation

3. Lactacid oxygen debt

4. Lactacid oxygen formation •

Codes :

(A) land2

(B) 2 and 3

(C) 1 and 4

(D) 1 and 3

103. Fat is stored in the body in the form of which of
the following ?

(A) Amino acid

(B) Triglyceride

(C) Actin

(D) Myosin

104. The term oxygen debt was introduced in years
1922 and 1923 by which of the following ?

1. A.V.Hill

2. H. Lupton

3.. R. Rumit

4. M. George

Codes :

(A) land3

(B) 2 and 4

(C) 3 and 4

(D) land2
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105. % PiMRiRaci chK'+ ̂ 5^
^ ̂ sn^^flr^ ̂TSfm ̂  f ?
(A) al^<tii d^i %aBi=tii 'ild^fntncil ̂

(B)

(C)

(D)

106. Hatnif^-Hl % 1^ RnidR^d WTfW

wm ^ ̂ # %%3::

1.

2.

3. ^^leV'S^T^T

4.

fqcttc^ :

(A) 1,2,3,4

(B) 2,1.3,4

(C) 3.2,1,4

P) 2,3,1,4

107. RnRil^a qil fqchRici <^i y.ch^TT^

t:

(A) =Q irfcT

(B) ?IT^ (WRfk^tlT)

(C)

(D)

108. ̂ i(l<%^i(ir<=^3TiTt'^ fdRi*M yiJiiki4l ark^)!^^

^ % WT ^

(ag^^ 'wsrm'
^«l^ld 4i<HI di^dldl t:

(A)
'  \3 e\

(B) +MkHcb

(C)

(D) ̂ k-XRTRf^WTR^SFT

109. a^^Mte3TI^T3:^TmTM3TT^%i^l^^
^ iwrft ^ "^rtk % vnTT ̂  ̂

(A) 3TT^fw?Tf^

(B) ^iRd

(C)

(D) fqtMilictJ ̂ il^a

110. WRlf^ \kc\\4\ % %

^TR ^ "sricRTcT t ?

(A) arftew HR ̂  50 - 60%

(B) 3{f^RKWHR^60-80%

(C) ari^RJ?WHR^80" 100%

(D) aTteRHR^50%%^

111.

cftMT aR^fkm" t ?

(A) 1 3m.TTiT.% 30-40%?!^

(B) I aTR.TTH. % 70% ̂

(C) 1 aTK.TiiT. % 50 - 60% ̂

(D) 13TK.RiT.^80%

112. (y,<1f^di ^TTcfT) % %tt

Cs

(A) ?Tfw

(B) V02^

(C) yfclfpb^l RiBl"

(D) ?kk^<rl41dlMH

113. d=h'fl^^ifl^HM.4>^cn?^t:

(A)

(B)

(C)

(D) ylly^l^I^ci
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105. Which of the following factors determining
speed is largely dependent on genetic character ?

(A) Neural mobility of the nervous system

(B) Biochemical reserves and Metabolic
efficiency -

(C) Technique

(D) Flexibility

106. Arrange the following for traditional
periodization progression for endurance athlete :

1. Tempo session

2. Endurance session

3. Lactate threshold session

4. Maximal effort session

Options:

(A) 1,2,3,4

(B) 2,1,3.4

(C) 3.2,1,4

(D) 2,3.1,4

107. Parachute running is a tool for improving

(A) Running speed
(B) Endurance

(C) Agility
(D) Flexibility

108. Restoring die state of homeostasis by causing the
different systems and functions in the intemal
organs of the body to adjust to the state of
disturbance due to load is termed as :

(A) Adaptation

(B) Functional Adjustment

(C) Overload

(D) Biochemical Adjustment

109, The maximum force an athlete can exert with the

whole body or part of the body, irrespective of
size of body and muscle size, is known as:

(A) Relative Strength
(B) Absolute Strength
(C) Maximum Strength
(D) Explosive Strength

110. What is the recommended heart rate percentage

for an athlete training to improve endurance ?

(A) 50-60% of Max HR

(B) 60 - 80% of Max HR

(C) 80-100% of Max HR

(D) Below 50% of Max HR

111. What is the recommended exercise maximum

intensity in strength training for children ?

(A) Up to 30-40% of IRM

(B) More than 70% of 1 RM

(C) Up to 50-60% of IRM

(D) 80% of IRM

112. Which of the following factors is most important
for maximal aerobic power ?

(A) Strength

(B) V02Max

(C) Reaction Time

(D) Body Flexibility

113. PNF in stretching technique means :

(A) Pro-Neuromuscular Facility

(B) Protective Neuromuscular Facilitation

(C) Proprioceptive Neuromuscular Facilitation
(D) Proprioceptive Neuromuscular Flexibility
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114. cflffid I % oij 1^ ihI %
'  N3

l^'Mi^ancrrlr?

(A)

(B)

(c)

(D)

115.

^mi:

<4^ oicpi^i 't I

^8R//; ^-2 ^

^ ̂ ̂#iTT %

PlH^I Mdl^ ̂  I

(A)

(B) ̂ ^ST^I3^II<il41jlcridf I

(C) ̂ mi^T^t,W5^mir7T^tl
P)

116. ^rf^TW% ̂K"i % 3TTW

(A)

p)

(C) Ti^

P)

117. ̂ 3i^hft'(ATP)^^WX^%f^^3^-3j^TO^
%cfli «m ̂:

1. <?rii5'^'3H

2.

3. inF^tf^Tte

4.

5.

(A) 1,23^3

P) 3,43^^5

(C) 1,4 3;^5

P) 1,23^5

118. Rnf^lR^d ^ % ̂ -W Trdte?

(wr^^Mwt?

(A)

P) 37Mta"3TTTO^

(C) mc^^Tf^Wt^cqm

P) tUPicl >do^?'^'"^[^

119. zm-i iiraM cf^sTf ̂  ^

(A) ^c<i<jcfl<4 livjii^H tiisiai

p) ^-SK^i SiTTTcTT

(C)

P)

120. o41'4m%cild4iy®l4l^(^(^(i<^3TT^^yi4j dpi^

Tf ̂ -■^ft yfpb-i<l Hdd t ?
(A)
P)

(C) dpR2T5^T*
P)

121. ^ Ry-dM
N3

WMdl dJ|l^%RnJ^d<dl41t?
(A) m^^3#rfR-
P) Rnsei
(C) ^1^y=hcd
P) 41h<

122. ^k-W dxd y(d yiH iJdH
wrt?
(A)
P) 5ikk
(C) ^
p) f^illHH
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114. During high intensity exercises, which energy
system is predominantly used ?

(A) Aerobic Glycolysis

(B) Anaerobic Glycolysis

(C) Oxidative phosphorylation

(D) Beta-oxidation

115. Choose the correct statement:

Statement I: Beta-1 receptors increase heart

rate and blood pressure.

Statement JI: Beta-2 receptors relax

bronchial muscles and decrease

mucus production.

(A) Both Statement I and II are true.

(B) Both Statement I and II are false.

(C) Statement I is true, but Statement II false.

(D) Statement I is false, but Statement II true.

116. What is the term for the increase in muscle size

due to resistance training ?

(A) Hypertrophy

(B) Hyperplasia

(C) Atrophy

(D) Hyperextension

117. The three sources of high-energy phosphate to

keep the ATP pool filled are:

1. Glycogen

2. Triglyceride

3. Phospholipid

4. Creatine phosphate

5. Cellular respiration in the mitochondria of

fibers

Codes:

(A) l,2and3
(B) 3,4 and 5

(C) 1,4 and 5

(D) 1,2 and 5

118. Which of the following is a characteristic of
aerobic metabolism ?

(A) Lactic acid accumulation

(B) Oxygen requirement

(C) Immediate ATP production

(D) Limited energy supply

119. Which physiological characteristic is most
prominent in Type-I muscle fibers ?

(A) High anaerobic enzyme concentration

(B) High glycogen storage capacity

(C) High mitochondrial density

(D) Fast contraction speed

120. Which process helps to clear lactic acid from
muscles after exercise ?

(A) Anaerobic respiration

(B) Passive recovery

(C) Active recovery

(D) ATP hydrolysis

121. Which sensory receptor is primarily responsible
for detecting muscle stretch ?

(A) Golgi tendon organ

(B) Muscle spindle

(C) Pacinian corpuscle

(D) Meissner's corpuscle

122. Which macronutrient provides the highest energy

per gram ?

(A) Carbohydrate

(B) Protein
(C) Fat

(D) Vitamin
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123.

(R) w wt 1
^ il^'nq ^ ̂3q^ ^ 3xK I
ad^rajsrr (A): %ft^ M % ̂t^K M %

«hKUi (R) : "fMhr crUcK."^, ̂ rfrfft^'SRW ̂ K
aTTFi^%RwiW| I

(A) arteiR (A) afk w^r (R) ̂  t a^
(R) arf^R^sR (A) #^ <^iisi\\ WT

(B) .artesR (A) WIT (R) ̂  ̂ ̂
WIT (R) a^te^R (A) # ̂ Ws^TT
wrtl

(C) arfwR (A) ̂t, Mid (R) tt^I i

P) arfwR (A) TlRcT t, Mid +KU| (R) ̂  11

124.

tilled 1^-41 2TT?

(A) 2006

(B) 2007

(C) 2008

P) 2009

TTtk ̂  teif^R ̂  anww Wt I ?

(A) 16

(B) 12

(C) 14

P) 13

126. (WHO) % aRHR #
nNim 4411?

(A) CIm ainnR^ld
P) J^I|(1R4), ate4Hl4lI^4> ̂ crM\^\ #TnTof

a^^^STT

(C) ■

(D) ̂ 1^=41 ctil4 =h<^ 4)1 ScRcIT

127. ̂  w^?fR-^a^5gwr(3TWR)^^^'^
^ w, ̂  ̂ aR^sTT'ir 31^^^

XitF^ 1^ 3IW % ^ #rft ?

(A)

(B) WTFft^ET^^

(C)

(D)

128. % tt% % WT % aRW, ̂  WFT %
S3 '

^  ct)Kct) RWT

(A)

(B)

(C) arj^^T

(D) aRR^c^RT

129. ̂ %f^%ag^TK,^

^ wm, Ri; ̂  #TT a^
9

(A) ̂ H\C\ 41(^1

(B) ikHK^

(C) ̂ H\K^

(D) ̂ %'SWR^

130. ̂-arr^Tiif PiHfdf^d t ̂  ̂  ^ ̂
Cs

Wfwt?

(A) .5WR

(B) ̂

(C) ̂ toarrif

P) rW
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123. Given below are two statements, one labelled as

Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct
answer using the code given below.
Assertion (A) : Second class levers offer greater
mechanical advantage than third class levers.

Reason (R) : In second class levers, the

resistance lies between the effort and the fulcrum.

Options:

(A) Both Assertion (A) and Reason (R) are true

and Reason (R) is the correct explanation of
the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true,

but Reason (R) is not the correct
explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is
false.

(D) Assertion (A) is false, but Reason (R) is
true.

124. The United Nation's General Assembly declared
which year as "The International Year of
Sanitation" ?

(A) 2006

(B) 2007

(C) 2008

.  (D) 2009

125. According to the National Institute of Health,
how many vitamins does the body need for
normal health ?

(A) 16

(B) 12

(C) 14

(D) 13

126. What is the WHO's defmition of health ?

(A) Absence of disease

(B) A complete state of physical, mental and
social well-being

(C) Only physical fitness

(D) Ability to perform daily tasks

127. The abductor shoulder muscles will be in which

type of contraction, when the arm is slowly

lowered from an abducted position ?

(A) Isometric contraction

(B) Isotonic contraction

(C) Eccentric contraction

(D) Isokinetic contraction

128. According to Newton's First Law of Motion, in

the flight phase of the long jump of the jumper,
which factor will remain almost constant ?

(A) Horizontal velocity

(B) Path of projectile

(C) Vertical velocity

(D) Vertical acceleration

129. According to the law of momentum, when a bail
is kicked in soccer, the acceleration of the ball

will be proportional to the force applied on the
ball by the kicker's foot and inversely
proportional to :

(A) Weight of kicker

(B) Velocity of kicker

(C) Momentum of kicker

(D) Mass of the ball •

130. Torque is the product of force on which of the
following ?

(A) Mass ,

(B) Distance

(C) Lever arm

(D) Acceleration
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131.

(A) 0^72^
(B) 7^I5f^

(C) 1^5i^

(D)

132. 5bl4l'^\^ 3^ % ##r5FT ̂

^ncIT%?

(A)

(B)

(c)

(D) PmOdHH RlI^rHI

133. ^grarf % a^gsrak %
wm ̂ ^ wktf ̂  ̂ cTto ̂  ̂ t
^ W MRT TOiT I", 3^ W WT t:

(B) ai^H

(C) kTT^rTCf?^|f^
(D)

134.

(A) cflsN-dV

(B)

(C) dTMcTSPT^
(D)

135.

kT^3nTT^3Rwt:

(A) ̂ ^Tf|k^(CWI)
(B) 3^wft^^k^(LWI)
(C)

(P)

136. MHd ylcDn «ni^ tkuk akHt h« t ?

(A) 18

(B) 19

(C) 17

P) 20

137.

(A) 2r^TTfB^fM%aTI^kt^WTt

P) M5 r<4^«w

(C) ̂ ^%^kldid 4)4 =h<dlt

(D) dlHHH ̂  fH-iifdd^idl t
(|jR)ktTk5crTt

138. arojoaTcapk^f^kt^^^^^TRTwrt:
(A) aTOk#(?^t^

(B)

(C)

p)

139. "sikk ^ ̂ ^

t:

(A)

(C)

P) a^WhsHsmtw^^^f

140. ^ ̂ "5^ ftxicru ch^l<»ct) ̂
3T?3Tte3T^#aTh:^^%^^^f?^RT wrt ?

(A)

(B) kriffw

(C)

(D)
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131. The duration of acute injuty is

(A) 0 to 72 hours

(B) 7 to 15 days

(C) I to 5 days

(D) More than one month

132. The combination of cryotherapy and static
compression is known as:

(A) Heat Therapy

(B) Infrared Radiation

(C) Cold Compression

(D) Contrast Bath Therapy

133. The "manner of effecting change through the
application of clinical skills and/or services that
attempt to improve function," is known as :

(A) Therapeutic procedures
(B) Heat therapy procedures

(C) ' PNF stretching

(D) Cryobum

134. What type of sports injury occurs due to

repetitive stress over time ?

(A) Acute injury

(B) Chronic injury

(C) Traumatic injury

(D) Fracture

135. The effective measure to prevent delayed onset
muscle soreness (DOMS) is .

(A) CWI - (Cold Water Immersion)

(B) LWI - (Lukewarm Water Immersion)

(C) HWI - (Hot Water Immersion)

(D) None of the above

136. How many amino acids help to form human
proteins ?

(A) 18

(B) 19
(C) 17

(D) 20

137. Why is hydration important for sports
performance ?

(A) It increases muscle size

(B) It improves reflex speed

(C) It reduces fat levels instantly

(D) It regulates body temperature and prevents
cramps

138. Lordosis is also known as

(A) Swayback

(B) Hunchback

(C) Blount's disease

(D) None of the above

139. Proteins are essential for athletes mainly because
they:

(A) Provide immediate energy

(B) Help in muscle repair and growth

(C) Improve hydration levels

(D) Enhance oxygen absorption

140. Which of the following is a postural deviation
characterized by excessive inward curvature of
the lumbar spine ?

(A) Kyphosis

(B) Lordosis

(C) Scoliosis

(D) Flatback
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141. y.'=^

(A) Mdtrfi ̂ i(\ ̂  3 3TT^T^ 4^(1 ̂ dd ̂  3
(B) M^crfl ̂ cid 14 ̂WTT^ 4^(1 M14 ̂TT^giT
(C) M^<rfl ̂ d(l 16 37T^Ti^ 4^(1 ̂ d(l 13 3TT^
(D) ^dO 15 a?TfCTT3? 4^(1 ̂ dd 12 3?TfCT

142. «iiRi'^i-^%Rm, A<^«rtrri4 ^Hcii

(A) 59T3T^,1^,^^,?Tt
(B) 3^r37^, 400 sil^ ^^sTld ?lt
(C) fefe, ̂cT3iw, ^Hd

143. ^ hV< ̂Hdl WR cti<^

% fdi< -MdH RhRiI^ d

(A) I sTi-s ̂ r^T

(B) ̂ ofl 5^(n <Si^
(C) f^-3TO
(D)

144. litec ^rftOT ̂

l^^rfitcr iTR^ ter armrltd't ?

(A) 6^FTT^%^(6a)

(B) 7Ri'HI Ad (7a)

(Q sf^JMi Ad (8a)

P) 9l^A^(9a)

145. Zd^W^ragW^FT^^iTT^Zt^X^TTfldT#'
%ldi^Ad^ chd^MRd f+LJ -dl^t?

(A) 25 y.-^ H[6diaft% fdU.20

(B) 5^%1^30T^tHfSdia^%1^25
(C) 3^%f^35Ti^Ml^dl<flf%%^30
(D) 5^%fe^40Ti^Mf^dia^%1^35

146. ̂ T^^TTf|dT3Tf%f^^t31^-ftd<^f^y Mdwt
^ l^d^ ^ aT?q% t ?

(A) 13 4>1<5s a^ 13 ̂=ti?-s
(B)

(C) is^Pkl^a^ist^
(D) 16^sklsafpci5t^^

147. ?ftf ̂  ^ ̂ ̂  % #TTr

(A) ̂ «ld ̂ Pi-H
(B) tgfel

(C) ̂

(D)

148. H'illqqii'1% Aa^

(A) 02

(B) 03

(C) 04

(D) 05

149. <hA< fAd ^

All Ad^ 4(lW^r^fd4Mldlt?

(A) -dK

(B)

(C)

(D) MM

150. trWh ̂  ̂ ̂ ̂  a^ ̂ll(lR=b

A^i+dNl ̂  TRt%te tetrrt ̂  ainyiilJi 11"

^ teA w w 8TT ?

(A) fiFK

(B) Ri'M-s m>n-s

(C)

P) TÔ n^TiAft
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141. Barrow Motor Ability Test consists of how many

test items in 1st and 2nd Battery ?

(A) 3 items in 1st Battery and 3 items in 2nd
Battery

(B) 4 items in 1st Battery and 4 items in 2nd
Battery

(C) $ items in 1st Battery and 3 items in 2nd
Battery

(D) 5 items in 1st Battery and 2 items in 2nd

Battery

142. How many track and field events are included in

McCloy's General Motor Ability Test for girls ?

(A) Push-ups, Sprint, Broad Jump, Throw

(B) Pull-ups, 400 m Run, Broad Jump, Baseball
throw

(C) Sprint, Pull-ups, Jump, Shot put

(D) 800 m Run, Modified push-ups. Throw,
Jump

143. Which test item is not part of Newton Test for
Motor Ability for high school girls ?

(A) Standing Broad Jump

(B) Baby Hurdle Race

(C) Chin-ups

(D) Scramble Test

144. The norms prescribed for college men in Indiana
Motor Fitness Test are based on which scale of

statistics ?

(■^) Six Sigma scale (60)
(®) Seven Sigma scale (70)
(C) Eight Sigma scale (SO)
(^) Nine Sigma scale (90)

145. How many steps are prescribed for males and
females in Tuttle Pulse Ratio Test No. 2 ?

(A) 25 for males and 20 for females
(B) 30 for males and 25 for females
(C) 35 for males and 30'for females
(D) 40 for males and 35 for females

146. How many trials are allowed in forehand and
backhand strokes in Broer-Miller Tennis Test for
college women ?
(A) 13 for forehand and 13 for backhand
(B) 14 for forehand and 14 for backhand
(C) 15 for forehand and 15 for backhand
(D) 16 for forehand and 15 for backhand

147. French Short Serve Test is specifically designed
for which sport ?
(A) Table Tennis
(B) Badminton
(C) Tennis
(D) Squash

148. How many main sub-categories of sports
psychology are there according to Cratty ?
(A) 02

"  (B) 03
(C) 04
(D) 05

149. The overall test score in McDonald Soccer Skill

(Volleying) Test is counted from :
(A) Best of four trials
(B) Best of three trials
(C) Best of two trials
(D) Best of five trials

150. "Sports psychology is the application of
psychological principles to sports and physical
activity at all levels." This statement was given
by whom ?
(A) Singer
(B) Sigmund Freud
(C) Crooks and Stein
(D) Browne and Mahoney
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